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TEST INSTRUCTIONS

Please make sure that you have a separate answer sheet with this
test paper.

Please check that the answer sheet has your details printed on it.
If not, print your name and date of birth on your answer sheet in
the area provided.

Please check that the subject and grade number on your answer
sheet matches this question paper.

This test has 44 QUESTIONS. Each question has four possible
answers. Only one is correct.

Please use a pencil only to shade in the answer bubble of your
choice on your answer sheet.

Choose the correct answer from A, B, C or D and shade this
bubble in on your MATHEMATICS ANSWER SHEET.

If you make a mistake then rub out your answer completely and
shade in the bubble of your new answer.

All answers must be marked on your ANSWER SHEET. You are
allowed 1 hour and 20 minutes for this test.
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Grade 12 Mathematics

The average height of girls aged sixteen years is 158 cm with a standard deviation of 8 cm.

What is the likely probability of a randomly selected sixteen year old girl being between 158 cm and
166 cm tall?

A 034
B 048
C 0.8
D 095

Which diagram shows two mutually exclusive events X and Y?

A fair six-sided dice is rolled three times.

How many different outcomes are there?

A 6
B 18
C 36
D 216

Mustafa is in debt.
His debt is growing by 5% per year.
In 2010, he owes Dhs 80000.

Which expression represents his debt in 20207

A 80000(0.05)(10)
B 80000(1.05)(10)
C 80000(1.05™)
D 80000(1.05%)




Grade 12 Mathematics

What isj‘(% ~ Cox )dx equal to?
A —17—tanx+c

B %—tanx+c

D _17_25(2223;4'(:

What is I(sin 2x + 24x3)dx equal to?

A —cos2x+ 6x'+c
B —2cos2x+ % +c
C —2cos2x+ 6x*+c
D

—%cos 2x + 6x* + ¢

What is the coefficient of x* in the expansion of (1 + x)’?

A 21
B 35
C 56
D 70

In the triangle shown, sin A = 0.6
What is value of tan A?

A 036
B 0.40
C 075 A
D 0.0

The mean and standard deviation are calculated for a set of data.
A relatively small score is considered to be an outlier, and is removed from the data.
The mean and standard deviation are re-calculated.

Which statement is true?

A The mean and standard deviation will not change.

B The mean will increase and the standard deviation will increase.
C The mean will increase and the standard deviation will decrease.
D The mean will decrease and the standard deviation will increase.




Grade 12 Mathematics

At the point (0, —6), the graph with equation y = x* = 6 has

A

B
Cc
D

a stationary point of inflexion.

a point of inflexion which is not a stationary point.
a local maximum point.

a local minimum point.

The trigonometric expression

sin X tan x

cos x___can be simplified.

What is the simplest form?

A

B
ot
D

tan2x

1

sin?x

sin 1 tan 1
cos 1

Let y = 3(5x% — 2x). What is %}% ?

A 0
B 3(15x*-2)
C 45x2-2
D 5x-x
What is the simplest form of Z)i—_8 ?
X
2_2
1
1_2
C -5- Z
1 o
D 5 — 2x




Grade 12 Mathematics

x is measured in degrees.
The equation of the curve below could be y = 1 + cos(x + 90)

YA
2.5

360 -270 -180 -90 O 90 180 270 360 «x
_0.5-

Which other equation could represent the curve?

A y=1+cosx+cos90
B y=1-cos(x+ 270)
C y=1+sin(x-90)

D y=1-cos(x-270)

Lety = -2x3 + 9x* = 12x + 12

What is the maximum value of y when x > 0?

A O
B 8
cC 7
D 12

| have 5 books, all different colours.

In how many ways can | arrange them on my shelf so that the red book and the blue book are next
to each other?

A 24
B 48
C 120
D 60




Grade 12 Mathematics

Which of the following numbers is the largest?

O 0 w »

799
107

A probability distribution for discrete random variable X is partially completed in the table.

X

0

1

P(X=x)

0.1

0.3

0.1

0.1

0.4

What is the expected ( mean ) value of X?

A

B
Cc
D

0.2
0.4
2.0
2.4

The mathematics department at Seaside School has two computers which, on any given day, have
independent probabilities of working of 0.7 and 0.5.

What is the probability that tomorrow at least one computer will work?

A

B
Cc
D

0.15
0.6

0.65
0.85

The times, in seconds, for 4 boys to respond to a visual stimulus was recorded both before and after

listening to some relaxing music. The results are given in the table.

Redha Mustafa Ibrahim Khalid
BEFORE 1.0 1.1 1.5 1.0
AFTER 0.8 0.9 1.5 1.1

If a boy was selected at random from the group of 4, what is the probability it was Mustafa, given
that the selected boy's reaction time decreased?

A

B
ot
D

0.25
0.45
0.5
0.9




Grade 12 Mathematics

Let x = a*¢ and y = a*4

What is the value of log( %) ?

A 12
B 15
C ¢

D 1.2a

The graphs with equations y = x* - 1 and y = x — 1 intersect at the points (0, —1) and (1, 0).

What is the area enclosed between the two graphs?

1
A ¢
1
B -2
c 21
6
D 2

A point P moves inside a square so that it is always a fixed distance from the perimeter.

Which of the following could be the locus of P?

2

What is J'%dx equal to?

1

A -log?2
B log?2
c 7

D e




Grade 12 Mathematics

Ahmad and Redha run a 200 m race. Ahmad runs at 5 m/s while Redha runs at 4 m/s.
By how much does Ahmad beat Redha?
A 10 seconds

B 12 seconds
C 15 seconds
D 20 seconds

Mustafa is 12 cm taller than Khalid. The sum of their heights is 352 cm.

Khalid's height must be

A 170cm
B 176 cm
C 180cm
D 182cm

The mean temperature for a 7 day period in Sharjah was 35° Celsius.
The first 5 days all had the same temperature, the 6th day was 3 degrees lower, and the 7th day was
38° Celsius.

The lowest temperature that week was

A 32
B 34°
C 3%
D 38°

PQRSTU is a regular hexagon. PU and ST are extended to meet at X.

P 0

X T S

What is the size of angle UXT?

A 30°
B 60°
C 8o
D 90°




Grade 12 Mathematics

Simplify 53+ 212 5+3212
A 6

B 57

C 214

D 265

Consider the following diagram, not drawn to scale. x and y are in degrees.

/o>

Y x\130°

Which one of the following statements is correct?

A x=65
B y=50
C y=x
D y-x=15

The line which joins (-4, 6) to (2, —3) can be described by which one of the following?

A Parallel to the x axis.
B Parallel to the y axis.
C Contains the origin.
D Makes equal positive intercepts on the x and y axes.

Ahmad needed to take some medicine every 8 hours.

If he took his first dose at 4 pm, what time did he take his 11th dose?

A 4am

B 12 midday
C 4pm

D 12 midnight




Grade 12 Mathematics

KXW A chocolate bar has the shape and data as given below.

WEIGHT IS 250 g

20 cm

If each cubic centimetre of chocolate weighs 1 gram, what is the area of each triangular end?

A 625cm’
B 125cm?
C 158cm’
D 115cm’

The angle of depression from the top of a cliff 60 metres high to a boat on the ocean is 40°.

The horizontal distance from the bottom of the cliff to the boat can be found using
60
tan 40°

60
tan 50°

C 60 cos 50°

D 60 tan 40°

Sana surveyed 200 students.

120 of them said that they like cricket.
60 said that they like tennis.

40 said that they like both sports.

What proportion of the students said they like cricket but do not like tennis?

>

10




Grade 12 Mathematics

Consider this equation: 5>+ 2(5) -3 =0

What is the solution?

A 1or-3
B 1

cC o

D log3

A student uses a set of normal distribution tables to help him answer a probability question.

The question is: "Bolts have a mean mass of 300 grams, and a standard deviation of 6 grams. What
percentage of bolts has a mass less than 291 grams?"

The tables show that P(z < 1.5) = 0.9332.

What is the answer to the question?

A 6.68%
B 43.32%
C 56.68%
D 93.32%
What is the value of 3l ;ﬁ 3 ?
A 2
3
B 3 2
C 15
D 30

11




Grade 12 Mathematics

K8 A group of 30 children were asked if they wear glasses.
Some of the results are shown in the table below.

WEARS GLASSES DOE; &2;;: EAR TOTAL
BOYS 20
GIRLS 10
TOTAL 30

One child will be selected at random.

If the child is chosen from the whole group, the probability of choosing a child who does not wear

is L
glasses is 10 -

If the child is chosen from just the boys, the probability of choosing a child who wears glasses is %

In this group, how many girls wear glasses?

A 1
B 4
C 5
D 9

Hamad invests Dhs 1000 on January 1 each year.
The interest rate is 5% p.a. calculated annually.
Consider the following series:

1000 + 1000(1.05)" + 1000(1.05)? + 1000(1.05)
What does this series represent?
The simple interest earned over 3 years

The compound interest earned over 3 years
The amount in Hamad's account immediately after he makes his 3rd deposit.

o0 w>»

The amount in Hamad's account immediately after he makes his 4th deposit.

Sana plants seedlings in her garden.

The probability of a seedling maturing is 0.7
She plants 200, at a cost of Dhs 1 each.

She sells them for Dhs 9 each.

What is her expected profit?

A Dhs 140

B Dhs 1060
C Dhs 1400
D Dhs 1540

12




Grade 12 Mathematics

Let f(x) be a differentiable function, defined for all real x.
And f(x) is such that f(4) = 0, f'(x) < O when x < 4 and f'(x) < 0 when x> 4

When x = 4, what is the point on the graph of f(x)?

A local minimum

B local maximum

C stationary point of inflexion
D

point of discontinuity

The velocity v, in ms™, of an object which is moving in a straight line, after t seconds is given by
v = te,

What is its acceleration, in ms=2?

A te

B 2te*

C te? + 2te*
D 2te?t + e

Consider the following probability tree for events X and Y.
The numbers on the branches represent appropriate probabilities.

0.7 Y
X
0.6
YI
4
XI
0.3 Y

What are events X and Y best described as?

A dependent

B independent

C  mutually exclusive
D complementary

13
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